tate whether the following statements are "TRUI or ‘EA :

(i) The issue of shares at a discount must be authorized by a special resolution of the company

(ii) At the end of the accounting period the balance of “Goods sent to Branch account” is transferred to
trading account

(iii) Operating or Finance lease comes under provision of AS-13

(iv) For life business premium income is to be recognized on receipt basis

(v) A Banking company cannot grant any loans on securities of its own shares

(b) From the four alternative answers given against each statement indicate the correct alternative: 1x5=5

(i) Transfer to Capital Redemption Reserve is not allowed from
(A) General Reserve _ -
(B) Profit prior to incorporation
(C) Reserve Fund
(D) None of the above

(1i) Goodwill in case of joint stock company is shown under asset side under the heading
(A) Fixed Assets #
(B) Investments
(C) Current Assets
(D) None of the above

(iii) Survey expenses for marine insurance claims must be
(A) added to claim
(B) added to Legal charges
(C) added to Administrative expenses
(D) None of the above

(iv) A non-performing asset is
(A) Money at call and short notices
(B) An asset that ceases to generate income
(C) Cash balance in till
(D) None of the above

(v) An amount spent for inauguration of new factory building is
(A) Revenue Expenditure
(B) Capital Expenditure
(C) Prepaid Expenditure
(D) None of the above

Please Turn Over
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(c) Match the following: 1x5=5

(i) AS4 A. Accounting for construction contract

(i) AS-7 B. Accounting for Fixed Assets

(iii) AS-10 C. Contingency and events occurring after Balance Sheet date

(iv) AS-31 D. Interim Financial Reporting

(v) AS-14 E. Accounting for Amalgamation

F. No matching statements found

(d) Choose the appropriate answer in each case from the given alternative answers (= 1 mark) and also give reason
for your choice (= | mark): 2x3=6

(i) If the current ratio is 2-4 : 1 and net working capital is ¥ 3,50,000, the amount of current assets will be
(A) T4,90,000 (B) ¥ 8,40,000 (C) ¥ 6,00,000 (D) None of these
(ii) Purchase price of a machine is T 44,500; Installation charges ¥ 10,000; Freight and Cartage ¥ 4,000;

Insurance charges ¥ 10,000; Residual Value ¥ 14,000; Estimated useful life 5 years. The annual amount
of depreciation under Straight line method would be

(A) T90,000(B) T 88,000 (C) T 87,000 (D) None of these
(iii) The net tangible assets of a business is worth ¥ 1,50,000. The average expected profit to be earned in
future is ¥ 30,000 p.a. If the market rate of return is 15%, the value of goodwill is
(A) ¥2,00,000(B) T2,25,000(C) T 50,000 (D) None of these
(e) State the conditions to be satisfied for payment of dividend out of capital profits. 2
(f) Name four errors which are not detected by Trial Balance. 2

2. (a) The following is the Income and Expenditure Account of Rising Sun Club for the year ended 31.12.2010:

(Fig. in )
Expenditure Income
To Printing and Stationery 3,200 By Entrance fees 3,000
Interest and Bank charges 1,100 Subscription 80,200
Annual Dinner expenses 18,400 Annual Dinner receipt 15,000
General expenses 6,400 Profit on annual sports 18,300
Salaries 52,500
Audit fees 3,200
Honorarium to Secretary 15,000
Depreciation on Sports Equip. 4,000
Surplus (being the excess of income over
expenditure) 12,700
1,16,500 1,16,500
The following adjustments were made to prepare the accounts:
Subscription outstanding on 1.1.10 < 4,000
Subscription outstanding on 31.12.10 ¥ 6,300
Subscription received in advance on 31.12.09 T 5,600
Subscription received during the year T 3,400
Salaries outstanding on 31.12.09 T 5,200

Salaries outstanding on 31.12.10 ¥ 6,800
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General expenses include insurance prepaid to the extent of ¥ 800; Audit fees due for the year 2010. Audit
fees paid in 2010 ¥ 2,800 for 2009,
The Club has the following assets:

Football Ground T 1,80,000

Sports equipments on 1.1.2010 < 35,000

Sports equipments on 31.12.2010, such sports
equipments after depreciation amounted to ¥ 37,000

The Club had taken a loan of ¥ 30,000 from a bank a few years back which remain outstanding on 31.12,10. On
31.12.10 the cash in hand amounted to ¥ 20,000.

Prepare the Receipts and Payments Account for the year ended 31.12.10 and a Balance Sheet as on that
date. 1]

What is a geographical segment as per AS-17? 4
Rituacquired a mine on lease from Richa for a period of 8 years at a royalty of T 60 per tonne of coal produced
subject to minimum rent of I 1,00,000 for the first year, increasing by ¥ 30,000 every year till ¥ 2,80.000 per

annum is reached. Shortworkings of any one year may be recouped out of excess workmg% of the following two
years only. The output during the first five years was as follows:

Year ending 31st March 2006-07 2007-08 2008-09 2009-10 2010-11
Output in tonnes 600 900 2,500 3,800 5,000

While preparing the accounts of first year, Ritu decided not to carry forward as an asset any shortworkings. In
the second year ¥ 95,000 were carried forward and in the third year T 55,000.

Prepare necessary accounts in the books of Ritu. 6
NR and Sons sells goods on hire purchases at cost plus 33!/3 percent. Prepare hire purchase Trading
Account from the following information: ; 5
.4

April 1, 2010 Stock with customers on hire purchase price 97,200

s Stock in hand at shep 1,94,400

% Instalments overdue 81,000

March 31, 2011 Purchase during the year ' 6,48,000

T Goods repossessed (Instalment not due ¥ 21,600) 5,400

- Stock at shop (excluding repossessed) 2,16,000

#i Cash received during the year 6,21,000

i Instalment overdue 97,200
State with reasons whether the following items are Capital expenditure or Revenue expenditure: -4

(i) A factory building was constructed at a cost ¥ 15,00,000. A sum of T 64,000 were incurred for the
construction of the temporary huts for storing building materials.

(ii) ¥ 5,000 paid for removal of stock to a new site.
(ii1) Expenses incurred in connection with obtaining a licence to start the business were ¥ 15,000,

Please Turn Over
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4.

wn

(a)

(b)

(¢)

(d)

(a)

X and Y are partners sharing profit/loss in the ratio of 5 : 4. They admit Z into partnership for '/.th the share in
the profits which is given ¥ (th by X and '/ th by Y. Z brings ¥ 1,50,000 as his capital and ¥ 60,000 as
premium. Goodwill account appears in the books at ¥ 1,65,000. Give necessary journal entries in the books of
the firm at the time of Z's admission and find out the new profit sharing ratio. 4

P and Q are partners sharing profits and losses in the ratio of 5:4. On Ist April, 2010 they admitted their
Manager R into partnership for '/ th the share of the profits. As Manager, R was receiving a salary of T 60,000
per year and a commission of 5 percent on the net profit after charging such salary and commission. It is,

however, agreed that any excess over his former remuneration to which R becomes entitled as a partner is to be
borne by Q.

The profits of the firm for the year ended 3 1st March, 2011 amounted to ¥ 4,27,500. You are required to show
the division of profits among the partners. 5

A motor car is sold on instalment payment system, the payment for which is made thus; ¥ 50.000 as immediate
deposit and the balance to be paid on five equal annual instalments of ¥ 40,000 each. The interest is charged at

12% on unpaid cash price. If the present value of annuity of T | for five years at 12% is T 3.605, calculate the
cash price of motor car, 2

State the main characteristics of the Book Keeping system of Banks. 4

Deepa Ltd. had 3 departments D1, D2, D3. Informations relating to the departments are as follows:

DI (%) D2 (%) " D3R)
Opening Stock 30,000 40,000 60,000
Direct Materials consumed 80,000 1,20,000 —
Wages 50,000 1,00,000 —
Closing Stock 40,000 1,40,000 80,000
Sales - -— 3,40,000

Stocks of each department are valued at cost of the department concerned. Stocks of D1 are transferred to D2
at a margin of 50% above departmental cost. Stocks of D2 are transferred to D3 department at a margin of 10%
above departmental cost.

Other relevant expenses were:

X
Salaries 20,000
Printing and Stationery 10,000
Rent 60,000
Interest paid 40,000
Depreciation 30,000

Allocate expenses in the ratio of departmental gross profits. Opening figures of reserves for unrealised profits
on departmental stock were:

D2 — 10,000
D3 — 20,000

Prepare Departmental Trading and Profit & Loss A/c. 10
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(b)

(3.) CAT-5(FAC)
Syllabus 2008

Give journal entries in the books of Head Office to record the following transactions on the closing date 3 1st
March, 2011:

(i) Depreciation amounting to ¥ 11,000 on Kolkata Branch fixed assets when such accounts are opened in
books of Head Office.

(i1) Goods amounting to ¥ 7,500 transfer from Kolkata Branch to Delhi Branch under the instruction from
Head Office.

(iii) The Delhi Branch paid ¥ 2,10,000 for machinery purchased by Head Office in Delhi.

(iv) The Kolkata Branch collected ¥ 8,000 from a Kolkata customer of the Head Office.

(v) Goods of ¥ 20,000 sent by the Head Office to Delhi Branch on 28th March and received by the later
on 10th April, 2011. 5

Following is the Balance Sheet of Madox Ltd. as at 31.3.2011:

(Fig. in %)
Liabilities Assets

I lakh Equity shares of ¥ 10 each fully paid 10,00,000 Fixed Assets 12,80,000

5,000, 12% Redeemable Preference Shares Current Assets 10,20,000

of ¥ 100 each 5,00,000 Bank 3.30,000
Securities Premium 1,00,000
Profit & Loss A/c 5,50,000
Current Liabilities 4,80,000

26,30,000 26,30,000

On 1.4.2011, the company issued further 30,000 equity shares @ T 10 per share at a premium of T 5 per
share. The amount payable was < 6 on application, 7 on allotment including premium and the balance on First
and Final Call. Application were received for 45,000 shares. Application money of 5,000 shares were refunded.
Pro-rata allotment was made. The excess application money were adjusted towards allotment. Mr. X holding
3,000 shares failed to pay the allotment money and his shares were forfeited after final call and thereafter, out
of these shares 2,000 shares were re-issued at a discount of T 3 per share.

Preference shares were redeemed at a premium of 10%.

Considering the above transactions, show journal entries and the Balance Sheet in the books of Madox Ltd.
12

Lakshmi Bank has followed the policies for retitement benefits as under:

(i) Contribution to pension fund is made based on actuarial valuation at the year end. In respect of emplyees
who have opted for pension scheme.

(ii) Contribution to the gratuity fund is made based on actuarial valuation at the year end.
(1ii) Leave encashment is accounted for on “PAY-AS-YOU-GO™ method.

Comment whether the policy followed by Bank in the above cases are in accordance with AS-15. 3
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7. (a) From the following information, you are required to calculate the amount of net worth, current liabilities, long-
term debt, fixed assets, current assets, inventory and debtors: 7

Current ratio — 2-5 : 1
Sales/Net worth — 4 times
Sales to Inventory — 20 times
Annual sales — ¥ 40,00,000
Reserves and surplus — ¥ 3,50,000
Net worth/current liabilities — 5 times
Fixed assets to net worth — 75%
Total debts to Proprietors’ ratio — 50%
Debtors velocity — 12 times
Fictitious assets — T 50,000
75% of sales were on credit.
(b) The Revenue Account of Sunlife Insurance Company shows the Life Insurance Fund on 31.3.2011 at
7 75.20,400 before taking into account the following items:
(i) Claim covered under re-insurance — 17,000
(ii) Bonus utilized in reduction of life insurance premium —< 6,300
(iii) Interest accrued on securities — X 13,240
(iv) Outstanding premium — X 10,180
(v) Claim intimated but not admitted — T 32,400

Calculate the assurance fund considering the above omissions. y-.
(c) State the purpose and use of financial leverage ratio. 3
8. Write short notes on (any three): 5%3=15

(a) ‘Capital Base’ of Electric Supply companies;
(b) Treatment of past losses of limited companies;
(¢c) Source of Buy-back of shares;

(d) Rebate on Bills discounted.
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CERTIFICATE IN ACCOUNTING TECHNICIANS
COMPETENCY LEVEL—PART II EXAMINATION
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Financial Accounting
Time Allowed: 3 Hours Full Marks: 100

The figures in the margin on the right side indicate full marks.
Answer Question Nos. 1, which is compulsory and any five questions from rest.
In case of any discrepancy, examinees are advised to follow the English version.

1. (a) = fr Frefafes = g € @ e IX5=5
(i) e % At W i & fore Fort g fodm v § sifusa @9 emavass €)
(ii) orEis Fem & o § *omen @1 A wier @’ % AW i w  sraiia e s
(i) afcETer svyen fasiia g2 rais wa-13 & i o & |
(iv) Sfte =ra1 sgaem & 2 | WiEm F1 s F Wi F SR W 0ear & S g
(v) Sf et @ & 3wl Ft ufogfa X FE wmorsEiga 6 FR g e

(b) fe& 73 = Sfeus 3adl 4 @ wd fawew 9f3: 1%5=5
(i) eit e H=g H g el o s gl
(A) WM EEE 9
(B) HAMEH & qd & @9 9
(C) S S |
(D) U H A g T

(i) g Y wvEe F e § @l gefa vy % vids § e s ®
(A) Trlt st
(B) fafm
(C) re] wHfa
(D) 3TF F & HE Tl

(i) FHET SH1 <A 6 FAGU S H S S
(A) SEH
(B) I =g
(C) vEHE = |
(D) 3945 4 9 i &l
(iv) TR-fromfea gmfa g :
(A) |7 TH HigE == T
(B) T T fSIE 319 & 39 o< o fem ®
(C) fosird 4 e 99
(D) Sudad # ¥ g
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(v) T2 HREMT Yo % 3¢ 1 oIg
(A) MTTd =99
(B) Ysfir =54
(C) FoieH =9
(D) ST & § &
(¢) =i = frem =ifse . 1x5=5
(i) TrET J9Y - 4 A i el g oraieA
(i) & 39y - 7 B T gofE & e SEie
(iii) @ WA — 10 C e fazs =t fafy & 90 s gt i Ud 929
(iv) STEiET JHY - 31 D safr fastg wfaae
(v) TREi®A W99 - 5 E TEe & fog oA
F Tyem & o i faeam ==t faen

(d) & 7 Jevfeas I H | W& T A FA (1 2AF) R G T W H HRO ST (1 3HF)
2x3=6
(i) afg =e] 3TUE 2+4 : 1 & 3R ¥g FHue 990 3,50,000 For 1 =1e] weafa =t =5+ iy 2l -
(A) 4,90,000 Fo (B) 8,40,000 %o (C) 6,00,000F0 (D) FrE &
(ii) T WA 1 Hed 44,500 Fo &, T =799 10,000 Fo, TS TS GeTE 4,000 Fo, SHHI &7 10,000 Fo,
A ged 14,000 To, STHHIG HHsier Sie- 5 94, Waq W@ USfa & FTER a1t g =t afe
(A) 90,000 %o (B) 88.000 %o (C) 87,000%c (D) 374 F i &
(iii) T SFFEE F SO FH 1,50,000 Fo ¥ | wfas § wrafad sfrae @me1 30,000 %o wigen & 1 afe a™m
o W = 15% & < wefe w6 it En
(A) 2,00,000 Fo (B) 2.25,000 %o (C) 50,000 % (D) 14 9 =I5 Tl
(¢) eIt e H F Wi A A o fere vl #F =mwE Fife |
() 39 IR TAfGE! o Ieord HIGY S qe19e 716 981 a1 Thdl & |

2. (a) 31.12.2010 = T B 9Tl 94 & forg Wi o7 Fo9 % g-=1gaa = ©

(ufer w99 H)

=g &)
BUE § TrEd 3,200 EERE T 3,000
1§ §F Y 1,100 =] 80,200
e Ui i =4 18,400 iftes afy
=] 6,400 g wifigal 15,000
Ehk 52,500 it Tel
S Yoo 3,200 FEUTH 18,300
wiea = 7™ 15,000
EeAEIUHI
™ EY 4,000
afirery

(R A9H A=) 12,700
1,16,500 1,16,500
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@ T A W Frefafed IR IRICE

1.1.10 < 37Ed I 4,000 Fo

31.12.10 % &0 = (.300 Fo

31,12.09 apfir T ==l 5.600 %o

¢ 3 SR fm W == 1400 T

31.12.09 = ST ERE 5.200 T

31.12.10 %1 TE 6.800 To

e o gdEd S soosoufcqfaa%md zomazm-wwtq%naﬁ 2010 o 2009 F IFHE
gﬁzsoozogrmﬂmnm\

s %w-ﬁm‘rﬁ%ﬂmﬁﬂ’f%
peael e 1,80,000 &
| 1.2010 1 GeTEe ST 35,000 %o
2 T 6 I 31.12.2010 =
wege ST 37,000 %o

@aﬁg&i.a&rﬂﬁéﬁﬂ 30,000 Fo I I feTN o S 31.12.10 %1 R A 31.12.10%3&1@1%5@“&
20,000 ®o

31.12.10ﬁ'maﬁaréraﬁé:ﬁrmmﬁaaWwawwﬁfﬂm sqfefer Faea Sam HifsT) 1
(b) S FA 17 % FTER S WEE I 7

(2) TR % A T 60T Ufaet & aﬁﬁr{@amﬁ@ﬁﬁmﬁw@ﬁ sara‘?%afquémfammmaﬁ?
= feRPT 1,00,000 F° < o ford 30,000 F° aﬁ'ﬁ‘q’@aﬁﬁé’t’cﬁ@ﬁﬁﬁﬂ%ﬂﬁ‘ 2,80,000 7
mﬁmw%mxmﬁﬁagﬁ_rﬁtﬁaﬁ mﬁaaﬁ%ﬁm@rgﬂmww%muﬁmaﬁ'

zmqred & A 600 900 2500 3800 5000

@ﬂﬁwﬁmﬁﬂﬁﬂﬂﬁﬂhmﬁﬁwaﬁ%?ﬂﬂﬁﬁm%wﬁ 7y = @ e S, TR
95,000%6?&@13&1& 55-,000*«30@341?[%-&@3@“1
ﬁgﬁg@ﬂﬁmwﬁmﬁu

(b) T mmwmmmﬂwﬁ 33 r.?omﬁmaa%%nﬁq‘mwaﬁﬁmmww
el :

| 313, 2010 %o
Treet & e T
oy Tl 97,200
T T R 1,94.400
e T 81,000
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31 |, 2011 Fo
g9 F T e A 6,48,000
T 199 I |IHH
(21,600 %o =i 37@w ford) 5,400
M W Efqan (qF: 99"
I |l BIga) 2,16,000
ay ¥ U Ushs 6,21,000
& Tt 97,200

(c) =R Wied wengd for Frafefea § & <M § o sima & =1 s € 4
(i) TF R Weq @ Fmior 15,00,000 %o F fom T W ARl @ WE % O U SR e
64,000 & ¥ AT T |

S.

(i1) @ =l 99 TS W HSH H =G 5,000 To Y fomar
(iii) T4 SATIR I TN & &G ARAY YIS T W 15,000 Fo =4 fopanm |

(a) T A 5 :4 % U F Ty wh Fonfom w0 g WrieR ¥ 1 SRR S | v e % ferg gnieed |
e fepa Forereht 2 T Qore g1 el <L S T g fe ST | SH 1,50,000, %o Yot % ferw 3ii 60,000 %o
witfirem o fere wmdm | ol | et @ 1,65,000 To | Heiia € | Sie o w3 I WH il TRl H SAIayEes s
& @ FItS A 1 T favesT e Feafad | 4

(b) 1 SR F 5 - 4 S ST T TR H it e g AIER € | & Werke SR R 1 37, 2010 R E
A5 forg wrsdert § wfferd foan 1| varys & ©9 H TR I IHH FHHIE 9 A9 92 F 916 Y5 T
T 5% HHIYA 3 WY 60,000 To At Fa7 et @1 911 9% 99 g6 AR Sl A¥eR & ¥ J @il 6 98 4
i 39 Ui § sfen & S 6 verush i e o g WISt U o et 2 39 & 9w wem |

31 9, 2011 H FES B e 98 o forw W @ 8 4,27,500 To A7) 3T WIS % SiE e il =5ea Rl
T | 5

(c) o A R e W ggfa W S T 1 50,000 Fo F FAH g foRn A SR S Uf¥n @61 s 40,000
To Welh ol 5 WHF w1tk foredl H =1 911 5411 Tohe o o 99 W 12% 1 X TIan ST o1 | 12% 905 99

feTa 1 Fo &l FEHF Ted 3-605 To ¥ 1 Wi FR % The J&F i U] i | 2
(d) S F gEIUTEH wonen i W fasand saed | 4
(a) =t feto & o favm €1, €2 9 €13 &1 5 fawwdl & vty yaaig Feifed @ -

Ei i) 303

To o To
yRfFrer i 30,000 40,000 60,000
Y eIs 9dt 80,000 1,20,000 —
TGt 50,000 1,00,000 —
Ffam Tl 40,000  1,40,000 80,000

ICET| s e 3,40,000
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wedes Taam =1 i =1 geais faym & v w e s € 1 26 & wied = € 8 faanita e 8§ 50% Siga
Tiafa o < €1 22 & efqd 1 213 8 favriig e 3 10% Siea gdialia ot s €|

a7 grafug =99 ¥ Fo
oA 20,000
TR F T JEt 10,000
[z - 60,000
= YA T 40,000
Ei 30,000
=131 1 fawrfia wewet e & orur & e s faurtts wied w T age gr ey & o it wea
i) 10,000 %o
203 20,000 %o 10

fawnfirr =7em/ (Trading) T AP T & @A S5 |
(b) 31f=m fegw 31 W/, 2011 & 96H FETeE = TaH § Freifed sgaen & fou sHa & o i
(i) PreTEHa I T Tt wFE 11,000 Fo SEE T W WA FECE H YRS § gl g
(i) WoH FEier™ ¥ 89 W 7,500 Fo & HIE Hichdl arEl  faeet aran 1 wrmfa = m)
(iii) ool ymEn 3 v Fterd g/ feeet | 2,10,000 To B WtE! W weil w1 A fHan
(iv) THICTRIT WG < WEH FHEierd o Hlereh Wesd ¥ 8,000 Fo g & |
(v) 20,000 Fo T HIel WU Haierd gRI foeeil @ &1 28 TTE =1 Sl 741 Sifeh vl g1 10 e, 2011
wre foman T 5

6. e feto %1 31.3.2011 %1 foea fFr=ifea @

(uf st #)

afaa et
| TG W {9 ot el 12,80,000
10%0 WEH Eed  10,00,000 = EEf@E 0 10,20,000
5,000 12% ST EEa 3,30,000
aifasHR 39 100 To
Pocy 5,00,000
ufasfa sfifram 1,00,000
GICHIEREIG] 5,50,000
EIS GRS 4,80,000

26,30,000 26,30,000

142011 = FI ¥ 10 To afeT 30,000 THA 3 5 To WiHaH W Frifia fod | &70fe 6 Fo WL W W, 7 Fo
THif afed avees W agr A9 FoH F AFAH AT W 37 off 145,000 379 % e wmeiEn w3 W gw ) 5,000 9w
e O S R AT S T | e eveie T e | weden uw = afafiem fdn = s O wamEtse fe
T | v FAEE 9T 3,000 39 9, S # U TR S e 3R 3HE i wum g ifan = & 9e see W fern
T g 39 | @ 2,000 379 3 Fo Fidl W A Frifaa faed

iR 3T # 10% HTean ) M fwa mn

Iy SERR) 1 e H TEd g Sl % o1 St a1 HIews FEE! &l qRaeh 4 e o e 12
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8.

(b) T i Tanfga ey St Fr=ifea ifadi =1 ver W W@ R

(12)

3

(i) TR AT & STER 9N & 31 H TN ¥ 3i9eH | 98 37 FHadEl & fog ¢ 5= TR g &

fawe g7 %)

(i) TRl gedisd & U WY & 3= § =47 we § HueH |
(i) ‘' A-ws—g-n"’ fafy & srafa S TS Sl Mo |
ward fos a1 d g oAt T Sl Hifaa! Sraie W 15 % STHER ¥

(a) Treifere gamatt @ o9 Y& qew, =] afadt, S o, T wrafd, =] gt e s iR STar

étnmm‘cﬁﬁq:
=Ie] 3T
[RER G2 4 W
=y #l fawg 20 T
- e fersr 40,00,000 %o
H9g UF e 3,50,000 %o
U5 /=] e 5 T
o gl 0 I8 9o
Tl STRRI 1 TS ¥ I
TR TifaRiteTan 12 T
FEY g 50,000 Fo
fasa &1 75% SuR faat §1

7

(b) FraferfEa =i & &9 W@ & 9@ 31.3.2011 & 69 T5F SH1 A1 & 30" @ H§ Sitaq s Sy

75,20,400 To I
(i) g & SFwfa Toaerd

(i) Sfe s sifam § SR & v 9Rg

(iii) wfafedt w aifita =
(iv) F<H Wty

17,000 Fe

6,300 %o
13,240 %o
10,180 %o

(v) gfaa fFd 7 <@ o e =8 ffn 32,400 %o
I9Ygad i I S A TE@q g SIH Y 0] S
(c) Taiia SiieT S & S2vd F WA F FHWES |

g fowof fefee (8 ) -

(a) Tasrelt sngfd swafdi o geit 3R

(b) it Tifae arelt s 3w gl F afE 1 sTER

(c) 39 & aodt wie & dW
(d) ¥ATE g forwi W sraara st

5

5x3=15



